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General Instructions

This paper contains four sections

Section A — Reading - 10 Marks

Section B — Writing & Grammar - 20 Marks

Section C -- Literature - 20 Marks

All Sections are compulsory

Separate instructions cyre given with each section and question, wherever
necessary

Adhere to the word limit.

Section A — Reading (20 Marks)

L. Read the passage given below and answer the questions that follow: (SM)

1. Actually, besides the God-given natural ability to think, two more things are
necessary in order to think effectively. These are knowledge and organization.
The reason you can’t think clearly about certain problems is that you do not
have enough relevant knowledge or experience. If you have no knowledge of a
subject, you have no starting point for your thoughts: or you will think from a
wrong premise and, of course, think incorrectly. Since thought is the “go” sign
for action, it seems likely that you will act incorrectly and do the wrong thing.

2. Obviously, the next thing to worry about is how to go about obtaining this
relevant knowledge. Again, you must take the time to go out and search for it, if
it pertains to some particular problem you must solve. Apart from definite and
particular problems, your relevant knowledge can only be acquired through
experience, from society in general, from listening to others, and from reading.

3. Don’t think because you converse with other people almost constantly, and
read quite a bit, that you are necessarily acquiring all the knowledge you are
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exposed to. One important ingredient may be missing-that is, interest. You must
have a spontaneous and genuine interest and/or curiosity about a subject in
order to gain much knowledge about it. One good way, incidentally, of being
Interested in others is to stop thinking of yourself so much. Listen a little more
than you talk and you may learn something. Another way of acquiring
knowledge is to read with your mind instead of only with your eyes.

Answer the following questions briefly: (1x4=4)

1. What are the three necessary things in order to think effectively?
2. What is the danger if you have no knowledge of a subject?

3. How can definite and particular problems be solved?

4.. Can you gain much knowledge without a keen interest?

Vocabulary (1/2 x 2=1)
1. Write the adjective form of ‘effectively’.
2. Find the word from the passage similar in meaning to ‘talk’-Para 3

I'(. Read the passage given below and choose the most suitable option:
'- (1x 5=5)
- 1. India’s regional movie industry is responsible for India’s rank as the
world’s highest movie producer. The Telugu film industry has won

several Guinness World Records. Tollywood of West Bengal has given
us legends like Satyajit Ray, Ritwik Ghatak, and Mrinal Sen. Bhojiwood,

the Bhojpuri film industry has earned renown in the 80s with movies like
Mai(1989) and Hamar Bhauji(1983).

Pahariwood or Dogri cinema, has won the National Film Award in the
regional category, for Dille Ch Vasya Koi(201 1).Dhollywood/Gollywood
Gujarati cinema, in existence since 1932, has produced more than a
thousand movies, Sandalwood, the Kannada film industry is the fifth
largest film industry in India after Bollywood and the madness is worth
an experience during the release of a movie starring Puneeth Rajkumar.
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National Awards in the regional category.
in existence since the 1920s, now boasts 0

box office collections of more than 60 crores.

4. Kollywood, the Tamil cinema is the second largest film industry in India,
and the first talkie ‘Kalidas’ was released by it, in 1931. And there's no
explaining the madness that follows during the release of any movie starring
Rajinikanth. Deccanwood based in Hyderabad, Telangana, has been granted its

own language tag of Dakhini.

Answer the following by choosing the most suitable option:

a) In the line... “Tollywood of West Bengal has given us legends’..... the

word ‘legends’ refers to ...
i) cerebral

ii) celebrities

iii) celebrations

iv) celeries

U

is the second-highest regional film-

b) According t0 the graph
producing industry in India.
1) Mollywood film industry
ii) Kollywood film industry
iii) Bhojpuri film industry
iv) Pollywood film industry



¢) One of the elements that is important in the regional film industry is......
{) the regional film industry is a responsible industry
i) the regional film industry has helped the Bollywood film industry
iii) the regional film industry has helped in making India the largest film
producer
iv) the regional film industry is the largest film producer in India

d) 1.Prtap is a movie buff and likes Puneet Rajkumar’s films.
2. Neelam is a movie buff who likes the film ‘Carry on Jatta’

%) 1. is a Kannada film lover 2.1s a Punjabi film lover
11) 1. is a blockbuster film lover 2. is an action movie lover
1ii) 1. likes film in his region 2. likes Pollywood’s Punjabi film

iv)1. watches films for entertainment 2. Watches films for action shots

e) Based on your understanding of the passage choose the options that
define the inherent qualities of regional films.

1. given us legends 2. Based on madness

3. answer in question tags 4. Have a crazy fan following
5. collect box offices 6. Carry language tags

(i) 2 and 5 (i1) 1 and 6
-(11i) 1 and 4 (iv)3and 6

SECTION B - Grammar & Writing (20 marks)

s

a) The following passage has not been edited. There is an error in each

line. Write the incorrect word and the correct word. (1 x 5=5)
Incorrect Correct

Kashmir is right called the E.g right rightly

“Paradise in Earth”, its beauty (a)

is to be see to be believed. 1 Rt o R

The rivers, hill, mountains and LY o b § A ity

gardens are the tourist attract. 0 ) R S A e

The snow-clad mountains is RNt | iy vt B 15T mamdy

a treat for the eyes.



b) Read the following conversation between two friends and then complete
the following in the reported speech. (1 x 5=5)
Rahul: Do you know that David was hit by a two-wheeler yesterday?
Varun: Oh no! When did it happen? '

R:ahul:  He was hit by a scooter on his way back from school.

Varun: Is he badly injured?

'"Rahul: He is not seriously hurt. But it is doubtful whether he will be able to

participate in the inter-school competition next week.

Rahul asked Varun (Al il e Varun was shocked and wanted to
KROW (D) cin s dinasasnn vmnd sina Rahul replied that (€) .....ocovvieirivnineenenn. from
school, Varum enquired (d) <350 s sonvosie saeios dnai s Rahul replied that
though he was not seriously hurt (€) ............cooovennens. to participate in the

inter-school competition next week.

IV) Creative Writing

a. You are Ms. Sulekha Mathur, Head Librarian, Progressive Public
School, Saket Branch, Court Road, Bareilly. You want to place an
order for books and magazines for your library. Write a letter to Better
English Store, Court Road, Bareilly placing an order for your library.
Include details of items that you wish to order. M)

b. Some of the modern gadgets such as computers and video games may
become health hazards if used for a long time. Write an article of about 120

words on these ill effects on the young. (5M)

Section C — Literature (40 Marks)

V) Read the following extract and choose the correct option : (1x2=2 M)

- It is the human earth that we defile,
Our hells of fire and dust outrage the innocence

Of air that is everywhere our own,
Remember, no men are foreign, and no countries strange



a)’ Our hells of dust and fire’ refer to.......
i) industrial activities ii) construction in the cities

iii) war, bloodshed, and destruction iv) pollution in the air

..........

b) The message in lines 2 and 3 is
i) we are devastating our own lives and our home with war

ii) we are polluting the environment with dust and noise
iii) we are burning everything-property and life
iv)we are using weapons to destroy each other

VI
i) Answer the following questions in 40 to S0 words: (2x5=10)
a. ‘And surely such a woman was enough to provoke a saint’. Who was the

lady and how did she provoke the saint?
b. What important and earth-shaking decisions did the doctor take while . i,

looking into the mirror?
c. Who were Abdul Kalam’s school friends? What did they become later?

d. Why did the swallow not leave the prince and go to Egypt?

e. ‘Patriotism does not mean hating the people of other countries? Do you
agree? Explain.

ii) Answer the following questions in 100-120 words: (4x2=18)

a. ‘Does the seagull not fly across the sun, alone and without a nest?’. How
does this statement motivate you to face the hardships of your life? Can

destiny help you fulfill your life’s longing? Illustrate your point with
re:ference to “My Childhood”.
b. “Bring me the two most precious things in the city,” said God, to one of
his angels, and the angel, brought him the leaden heart and the dead bird”

What do you think about the precious things that God asked His Angel to
bring for him? Give reasons with reference to the context of the story

“The Happy Prince”
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* Write your name, roll number, class and section, date and subject clearly in
your answer script.

* Write the page number on the right-hand side top corner of each side of the
paper.

» All questions are compulsory.

1. Question paper consists five parts

2. Part A has 12 Multiple choice questions of 1 mark each.

3. Part B has 4 Very short answer Type questions of 2 marks each,

4. Part C has 4 Short Answer Type questions of 3 marks each

5. Part D has 2 Long Answer Type question of 5 marks.

6. Part E has 2 questions on case study. The case study has 4 case-based sub-
parts of 1,1 and 2 mark each

PART-A
SI | Question Marks
No.
1 The value of x in the given figure is | \
AT = 1 \.
D/'/'fx 5x i \ l»
) \'i
AL?'L‘M*JXAB \
(a) 10° (b) 20° (c) 30° (d) 40° t\
|
2 | Inagrouped frequency distribution, the class intervals are 1-10, 11 \
~20,21-30, ....... . The class width is 1 \
(a) 5.5 (b) 10 (c)9 (d) 11 | 11
3 | Which of the following statement is correct? | |
(a) a trapezium is a parallelogram \ 1 \
(b) every rectangle is a parallelogram

(c) every parallelogram is a rectangle !\
(d) every rhombus is a square




lower limit is 83, then its upper limit is
(a) 86 (b) 84 (c) 83 (d) 87

|

In a continuous frequency distribution, class mark of a class is 85 and ] 1

Class mark of a particular class is 6.5 and class size is 3, then class
interval is

(a) 5-8 (b)6.5—9.5 (c)3.5-6.5

(d) 4.25-7.25

b o il st SR

07

Class mark of the class 70-80 is

(a) 65 (b) 85 (c) 75 (d) 150

A triangular colourful scenery is made in a wall with sides 50 cm, 50
cm and 80 cm. A golden thread is to hang from the vertex so as to
just reach the side 80 cm. How much length of golden thread is
required ?

(a) 40 cm (b) 80 cm {c) 50 cm

(d) 30 cm

A traffic signal board is equilateral in shape, with words ‘SCHOOL

AHEAD’ with on it. The perimeter of the board is 180 cm, then the
area of the signal board is

(a) 2826 cm?

(b) 1413 cm?
(¢) 9003 cm?

(@) 100V3 cm?

"\
\

9 In the given figure, ABCD is a paralielogram. If £C =657, then (4B + 1
<D} is equal to 1
?f PEEVAS 1| \
7 ey
A 4 \\
(a) 180° (b) 115° |
(c) 155° (d) 230° \\ J‘
10. | Which of the following is not a parallelogram ? ‘ 1 \
(a) trapezium  (b) square  {(c) rectangle (d)} rhombus |
i
11,

The base of a right triangle is 8 cm and hypotenuse is 10 cm. Its area

Wi

ill be

(a) 24 cm? (b) 40 cm? (c) 48 cm? (d) 80 cm?

|
|
|
|
|

1

PI—
e e s e




13 |
19. | Prove that a diagonal of a parallelogram divides it into two ‘ \
' congruent triangles. \ J
1 20. | Draw a histogram for the following marks obtained (out of 100 \ 3 \
' marks) by class of 80 students. ,
T : |
N Marks 1 Number of students j \
| 1 } !
1 10 - 20 18 | ‘*,
|| 20 - 30 | 10 |
. 30 - 50 | 15 |
| 50 - 60 | 7 }
i : 60 — 80 ' 4
'ﬂ |

PART-D

Pa::t D has 2 Long Answer Type question of 5 marks.

21.
is a gate of width 10 m.
(i) Find the length of wire needed for fencing.
(iii) Find the area of triangular field.
22.

(i) Find the cost of fencing at the rate of ¥ 6 per metre. \
|
|
1

(without histogram):

For the following information, construct a frequency polygon

i

ClassMarks | 5 | 15

e

43

AN

Frequeney | 3 | 1

k
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i Part -E

| Part B has 2 questions on case study. The case study has 4 case-
.’ based sub-parts of 1,1 and 2 mark each
|

|

I

|

NJath teacher of class 9 gave students coloured paper in the shape of

quadrilateral and then ask the students to make parallelogram from
, it by using paper folding .
I

L IR . 20 ¢
| Erecy =16,
; T el |
! f i P i
: | A5 e |
| ! A P G

| 1.How can a paralleiogram be formed by using paper folding.
2. if ZRSP=30°, THEN £RQP= ?

' 3.If SP = 3cm, then RQ =17

24 | The students of a school staged a rally for cleanliness campaign. They

walked through the lanes in two groups. A group walked through the

lanes PQ, QR and RP; while the other group walked through PR, RS
and SP as shown in figure:

P 2€ m S
gm sm
-
Q kom R

Thes'e two groups cleaned the area enclosed within their lanes.
If PQ =9 m, QR = 40m, RS = 15 m, SP =28 m and £Q = 90%;

(i) Which group cleaned more area and by how much?

(i) Find the total area cleaned by the students (neglecting the width
of the lane).

lii ) what is the area cleaned by group B




19,

20.

Prove that a diagonal of a parallelogram divides it into two
congruent triangles.

Draw a histogram for the following marks obtained (out of 100
marks) by class of 80 students.

Marks Number of students ‘
| 10-20 18 |
| 20 - 30 & 10 |
30 - 50 | 15 |
| 50 - 60 | 7 |
| 60 — 80 | 4

PART-D

23

PaI:t D has 2 Long Answer Type question of 5 marks.

is a gate of width 10 m.
(i) Find the length of wire needed for fencing.

(ii) Find the cost of fencing at the rate of ¥ 6 per metre.
(ifi) Find the area of triangular field.

22.

For the following information, construct a frequency polygon
(without histogram):

Clagz Marks

5

15

BB L5

Ly

Frequency

3

N

EAE
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R— T
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Part -E "~ F

| Part B has 2 questions on case study. The case study has 4 case-
| | based sub-parts of 1,1 and 2 mark each

| ‘
, 1
|
23. |
| Math teacher of class 9 gave students coloured paper in the shape of

|
r
, | quadrilateral and then ask the
| e . ) students to make parallel

! it by using paper folding . i SeEmmi

D R

!!
| = ¢
i §,</ ‘
| S > S

A p [
; 1.How can a paralleiogram be formed by using paper folding.
i 2. if ZRSP=30°, THEN £RQP= 2

3.If SP=3cm, thenRQ =7

i
i

24 | The students of a school staged a rally for cleanliness campaign. They

' walked through the lanes in two groups. A group walked through the

lanes PQ, OR and RP; while the other group walked through PR, RS
and SP as shown in figure:

P 28 m S

g 5m

-

Q ['_’g‘m R

These two groups cleaned the area enclosed within their lanes.
If PQ=9m, QR = 40m, RS =15 m, SP =28 m and £Q = 90°;

(i) Which group cleaned more area and by how much?

(i) Find the total area cleaned by the students (neglecting the width
of the lane).

lii ) what is the area cleaned by group B
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Sindhi High School, KK Road, Bengaluru-01

II-Periodic Test (2022-23)

Class: 9 Subject: Science
Marks: 50 Time: 2 hr

No. Of Sides:6 Date:14 /12 /2022
GENERAL INSTRUCTIONS:

* Write the name, roll number, class & section clearly in the answer script.

(i) Section A-MCQ and questions carrying 1 mark each. They are to be answered in one
word or in one sentence.

(ii) Section B- Short answer type questions, carrying 3 marks each. Answer to these
questions should not exceed 50 to 60 words.

(iii) Section C- Long answer type questions, carrying 5 marks each. Answer to these
questions should not exceed 80 to 90 words.

(iv)Answer should be brief and to the point.

(v) There is no choice in the question paper.

SECTION - A

NO QUESTIONS MARKS

When a body is partly or fully immersed in a liquid, it undergoes an
1 apparent loss in its weight due to:

(a) decrease in its volume, 1m
(b) decrease in the density of the body.
(c) upward thrust exerted by liquid.
(d) decrease in its volume.

If A and B are densities of the material of body and the liquid

2 respectively, the body can float only when Im

(a) A=B
(b) A<B
(c) A>B
(d) A=2B




When a body is immersed in a liquid,the buoyant force acts on the
body:

(a) vertically upwards 1m

(b) vertically downwards

(c) sideways towards the walls of the container

(d) none of above
The atomic symbol of silver is
(a) Si (b) S
(©) Au (d) Ag A -
What is the value of Avogadro’s number?
(a) 6.02 x 1022 (b) 6.02 x 10% 1m
(c) 6.02 x 102 (d) 6.02 x 10%2

1m

What is the chemical formula of sodium carbonate?
(a) Na2CO3

(b) NaHCO3

(c) NaCO3

(d) Na2HCO3

How many moles are present in 40 g of He?
(a) 5 moles

(b) 20 moles

(¢) 6 moles

(d) 10 moles

1m




{

Which of the following has an atomicity of 4 : 1m
(a) Sulphate -
(b) Ozone molecule T

(c) Phosphorus,jmolecule

(d) Methane molecule

Arrange these statements in correct sequence of preparation of green 1m

manure.
(i) Green plants are decomposed in soil.

(ii) Green plants are cultivated for preparing manure or crop plant parts

are used.

(iii) Plants are ploughed and mixed into the soil.
(iv) After decomposition it becomes green manure.
()(1) — (1) — (1) — (V)

(b)) — () — (@ — (V)

(c) (un) — (1) = (1) — (1v)

(d) v) = () — () — (1)

10

Find out the correct sentences.
(i) Hybridisation means crossing between genetically dissimilar plants. 1m

(ii) Cross between two varieties is called as inter specific hybridisation.
(iii) Introducing genes of desired character into a plant gives

genetically modified crop.

(iv) Cross between plants of two species is called as inter varietal
hybridisation.

(a) (i) and (iii)

(b) (ii) and (iv)

| (c) (ii) and (ii1)

(d) (iii) and (iv)
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Which one of the following nutrients is not avetfible in fertilisers?
(a) Nitrogen a

- Im
(b) Phosphorus
(¢) lron
(d) Potassium

12 Im
When an object is immersed in a fluid, name the two forces acting on
it.
An object of weight 200 N is floating in a liquid. What is the

13 magnitude of the buoyant force acting on it? lm
Why does the block of wood held under water rise to the surface when

14 | released? Lo

SECTION -B

(a)The following figure shows three identical blocks of wood floating

15 | in three different liquids A, B and C of densities d), d2 and 3m

ds respectively. Which of these has the highest density. Give reason to
justify your answer.

9 L. 2 | %

A ) c

®) Aforceof!lOONactsonlhcsurfaccofm 10 cm® normally.
Whatwouldbethethmstmdpmsumonlhcwrfacc
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sink in water ? Support your answer.
(Density of water = 1000 kg/m?).

b. Lead has greater density than iron and both are denser than water. Is
the buoyant force on a lead object greater than or lesser than or equal to
the buoyant force on an iron object of the same volume? Explain your
answer giving reason.

(a)If the relative density of a substance is less than 1, will it float or Im w

17

(b) Write the chemical names of the following compounds:

(1) KaSOa (i1) Mgs(POu)z

(a) Give two drawbacks of Dalton's atomic theory. ‘ Im
|

18

(i) Sodium oxide  (ii) Aluminium chloride ‘
(b) Distinguish between molecular mass and molar mass.

(c) When 3.0 g of magnesium is burnt in 2.00 g of oxygen, 5.00 g of
magnesium oxide is produced. What mass of magnesium oxide will be
formed when 3.00 g magnesium is burnt in 5.00 g of oxygen? Which
law of chemical combination will govern your answer? State the law

(a) Write down the formula of \ 3m

19

(i)Differentiate between compost and vermicompost.

(i)excess use of fertilisers detrimental for the environment

Im

20

Explain about organic farming.

-

im




Sindhi High School-K.K.Road
2-Periodic-Test 2022-23
Subject-Social Science
No. of printed sides- 3
Class-IX : “Time- 2. hour
Date- 16.12.22 Marks-50
The question paper consists of 22 questions.
Section A consists of 1 mark questions.
Section B consists of 3 mark questions.
b Section C consists of 5 mark questions.
' All questions are compulsory.
[ ] Section A
1. | Hitler reoccupied Rhineland in- s
a. 1936 b. 1933
5 [c. 1932 d. 1931
[ 2. | The Axis power were-
a. Germany, Italy, Japan
b. Germany Turkey, Austria
c. U.S.A, France, England
d. Germany, Italy, Austria 3
[ 3. f V/hich of the following incident started the process of the second world
war.

| 'l'a, Annexation of Czechoslovakia by Germany
f b. Japanese attack on Pearl harbor.

and

d. Attack on soviet union by Germany.
( The common indicators of Poverty are

/ c. Invasion of Poland by Germany.
/ 4

|

i




Which of the following is not an anti-poverty programme.

3,
a. NREGA b. AAY
c. NSSO d. PMGY
6. | Winter rainfall locally known as ‘Mahawat’ happens in the —
a. Winter b. Summer
c. Monsoon d. Spring
7. | The climate of India is described as-
a. Summer b. Winter
¢. monsoon d. Torrid
8. | The apparent force caused by the earth’s rotation-
a. Jet streams b. Coriolis
¢. Cyclone d. none of the above
9. | The President of India is elected by-
a. Direct election by citizens who are18 years or above.
b. Indirect election by the electoral college.
¢. Prime minister and the council of ministers.
d. None of the above.
10. | Judiciary can take up any dispute like-
a. Between Citizen and Judiciary.
b. Between Citizens and the government.
¢. Between two or more governments.
d. Between government at the Union and government of the other
countries.
Observe the statement and select the best option
a. i b. ii ¢ i i iii d. iv
11. | How can a judge be removed?
12. | The current anti-poverty programme consists of two planks. Name them.
Section B
13,. | ‘The Weimar constitution had some inherent defects’. Infer
14. | Explain the three categories of the council of ministers.




%

‘>

]‘1 3. Explain the foreign policy of Hitler.

16.

—

]

Explain any three social indicators through which poverty is looked upon.

(8]

17. | Write a short note on the three local winds of the summer season. 3 \
18. | Explain any three climatic controls. 3 _11
i
|
Section C 1
19. | What is the difference between Political Executive and Permanent 571
Executive?
20. | Explain the colonial rule and income inequalities as causes of poverty. 5
21. | Highlight the five cvents that led to the destruction of democracy in 5
Germany.
22. | Why is the monsoon considered as the unifying bond? 5
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2. THE STUDENT WROTE A LETTER.

3. THE ELEPHANT WILL WALK SLOWLY.




. FATHER IS READING THE NEWSPAPER.

oC

g, MANY FISH SWIM IN THE WATER .
€. THESE ARE BOOKS.

. | AM SHIVA.

G

QUS: - T~ He[AYF STTRIUIH
5. YaTgfhaugE wfey / FiPufasmT a1 o |
g, o + 3 I |
2 qEETdl HIEEAr AR |
6. Reedsw: g e frear Redaeufa @ |
¢, aforr & Tg wired Teofd | (AT
) AT 3 AR §) AlRA §) A
-5 gea Raagenta sorfed | (@)
¥) WY 3 WY ) @R g) WA
7. RFedsT: ggRe gl frear Reawyme [{ad |
2. SIeATCATY AT (3 - @)

) 3 3M) Feg §) Wea g) AEA

2. Rream: 7w (¥ - &)

¥ T M IIW 5 Wd 8 Ao

g, AR AR TR SR Ha R e |

?. @ F T + Feadl A |

W) aeH ) Tea ) e §) e
2. FEH YA Feltey g + o + A RO TetH |
) HET W) WA 3) FEIGA §) WA

(1x2=2)

(1x2=2)

(1x2=2)

(1x2=2)

e




"-‘,.-_4

O WOUMRTQ@ady agarar ey wawnaraa Qo | (1x2m2)
R (22) AQaEn e |

NS RSB (38) DA |

10, RAFRAY ey vl e @ I / R e | (1x2=2)
P SRR AQqar avony: |

2w R W+ galed |

11, Rwedyw R sreraeafa gaew awa g | (1x2=2)
bAS WA Wl |

e AEn AR any wrafd |

WUS: - ¥ - gfdd - HAQIUAH
12. IR Ireier qfSear weora Ieifor fawd |
m@mm:mmmmmﬁmm@mmw

mﬁWWWQWWW|
m;mwm-tmmr%mmmﬁﬁ?s&
WWWNWIWWWWWIW:

yegaed -
«@rmgwn?mqmﬁrmﬁa’rqgmr

TR HaT seeegAEr I
. FyARAR SR Aedd & - T




R, faggmeTaas oo & & a2

3. fadergar fome |

?. A AT QAT At 50T A ggared: 7

. HedS T AEOT R s Hatre HEH qgFaA ?
13. Il geaml gfdear wumers, 3awfr fwd |

(¥x2=1)

Refea Aq: TaaHT amF

Y o Wgfed Belllel gaT: |
Aeied TE Tl aTRETET:
RIYHRT Fadr fegfa: |

. THaEAT 31 foad |

?. & G& o JHefea?

2. 9T RsE: RITHRE srafea?
I, R e | (m2=1)
¢AET FeaRRAed TeIn R 9 g

14, Ienfafle rgare vfdear womemR ST e |

- (1x2=2)

auteT: - (FIETH IcHIAA)

3 ARGIERT HegeSH AAEEfA g FoeIHT RAA | WRA O
dgIAATCIH  HHASIH | $FECA: AfE WA AT R Tedd
fagamsarar war aohy: | RWiRE 9eg g | (FeIE)

H RIH A6 S Iq FIsRT 8a+ | Wed HAgfd: 3eAlfold & TG

IR faeaTe] SaaA: gAY Rshdieng AgaEoyaE HUiH | afeemnst
faeareaTsa TepeAe TTOIA | (FIUTH TTBh)
H. vHAEA 3 foEd | (1x2=2)

¢, TUICHET TIART: e ITHIA?




.éf .

2. TUleT: fae@eagAg FF IHTeSd?

3, fadenger e | (¥ax2=1)
?. Hief sfa fhareey wque f&a?
R. 'HITLT: ITHAAT HT Fdsaue fFa?
15.7ynent:-RAfEaTfa werfer smyey weafasior 3 | (1x2=2)
. UIRIY TUTT: 7O Hafwer | R, &: Agelr dgeft greaar |

(¥2x8=4)

16. yefaf@arfa aFarfer gearar Ascar ga: forad
0. F: dTe HIAAARY: Rfedaar - 'wyH 3FFe Fafd g% S &1 -

Fahry e dfea?

R, TSI Th: degle]: el A |

. 8! AT AT FHFg]! HEAA e #AT TF A Fefd Ha?
. T YeUIeHTe Fofec HYR TSl o ISRl Ieadd |
.aﬁatrmﬁ!m@mmﬁ?aﬁmﬁﬁﬁ?

3
¥

g
6 H: A - I & AYASAL 7T 3T |

b. T W F: faeIreATy Fioar dguT FUT FUR T HAT |

¢. FH T QAT AT NI, 3 g aFY AT HC: F A |

17. wofart: ¥ e T3 | (%x2=1)
2. AR I
2. 73 T
;I{ﬁ': == oo,
T i i o

Il Q3 ST I




